
1) Find area of triangle
h = 566 cm, a = 755 
cm,
b = 778 cm, c = 821 
cm

Answer: ____________

2) Find area of triangle 
s = 137 in

Answer: ____________

3) Round 17.8093 to 2 decimal places.

Answer: ____________

4) Find area of triangle 
s = 293 ft

Answer: ____________

5) An amount was decreased by 1.5% to 
$207.04. Find the original amount.

Answer: ____________

6)
8

10 /15

Answer: ____________

7)
121

6 /12

Answer: ____________

8) An amount was decreased by 10% to 
$142.00. Find the original amount.

Answer: ____________

9) Find area of triangle
a = 728 ft, b = 829 ft

Answer: ____________

10) Round 17.251013977 to 3 decimal 
places.

Answer: ____________

Total: ___ / 10

Copyright 2022 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

December 01, 2022

Sr: 01122022-2934

 

http://www.geekschool.co.uk


Answers:

1) 220174cm 2) 8127.2154018151in 3) 17.81 4) 37173.707444745ft 5) $203.93 6) 4 7) 11

8) $127.80 9) 301756ft 10) 17.251
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